CLASS: VIII
DAILY ASSIGNMENT-10
DATE: 30. 04. 2020 (Week-2)
SUBJECT: ENGLISH
Multiple Choice questions
TOPIC: KINDS OF SENTENCES

Identify the sentences given below and name it's kind:

1. I like playing basketball, and my brother likes playing tennis.
a)Simple
b)Compound
c)Complex
d)Compound-complex

2. I'll help you if you help me.

a)Simple

b)Compound
c)Complex
d)Compound-complex

3. My mother cooked dinner while | was doing my homework.

a)Simple

b)Compound
c)Complex
d)Compound-complex

4. Do you want to go swimming tomorrow, or would you prefer to play tennis?

a)Simple

b)Compound
c)Complex
d)Compound-complex

5. You should read every day if you want to improve your English more quickly.

a)Simple

b)Compound
c)Complex
d)Compound-complex



SUBJECT: COMPUTER
Multiple choice questions:

1. The components of a database which helps in searching and compiling data from one
or more table are known as:

a) Queries

b) Datasheet

c) Reports

d) Table

2. The components of a database which presents data from tables and queries in an
attractive format are known as:

a) Queries

b) Table

c) Reports

d) Datasheet

3. What is the full form PAN?
a) Personal area network

b) Personal authority network
c) Peer area network

d) Private area network

4. The component of a database in which each table appears as a spreadsheet grid is
known as:

a) Fields

b) Record

c) Datasheet

d) Table

5. A collection of information which is most essential part of an organization is known
as:

a) Database

b) Network

c) Interface
d) Software

SUBJECT: MATHS
Multiple choice questions:

1. Ramesh arranged his 17424 chocolates in such a way that there are as many rows as
there are chocolates in each row. How many chocolates did he place in each row?
a. 138
b. 132
c. 1412
d. 1458



2. What is cube root of (-21952)?
a. 38
b. 27
c. -28
d 34
3. Two-third of two-fifth of three-fourth of a number is 36. What is the square root of
four-fifth of that number?
a. 9
b. 12
c. 16
d 14

_ =
4. |If+/10 = 3.16, then find the value of |§

1.30

1.58

2.03

. 2.15

5. The cube root of 0.000343 is?
0.7

0.07

0.007

0.0007
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SUBJECT: PHYSICS
Multiple choice questions:

1. The earth revolves around the sun due to
a. gravitational force
b. frictional force
c. electrostatic force
d. mechanical force

2. The pressure exerted by a liquid
a. decreases with depth
b. increases with depth
c. does not change with depth
d. remains constant

3. Deep sea divers wear special suits to
a. keepdry
b. maintain pressure
C. swim
d. all of these



4. Calculate the pressure produced when a force of 50 N is applied over an area of 10
m?2.

5 Pa

10 Pa

15 Pa

20 Pa
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5. A man exerts a pressure of 14 Pa by applying a force of 70 N on a box. Calculate the
area over which the force is applied.
a. 10m?
b. 5m?
c. 20m?
d. 15m?
SUBJECT: CHEMISTRY

Multiple choice questions:

1. 1. The manufacture of one of the following artificial fibre contributes to
deforestation. This fibre is
A) Nylon
B) Rayon
C) Terylene
D) Acrylic

2. The similarity between artificial silk and cotton is that:
A) both are non bio - degradable
B) both melt on heating
C) both are amide polymers
D) both are cellulose polymers

3. Which of the following plastics objects can be recycled
a. electric socket b. polythene bag c. PVC pipe d. ash try
A) aand b
B) bandc
C) aandd
D) candd

4. The polymers in which smaller units are linked to each other in straight arrangement
are called :-
A) cross-linked polymers
B) branched polymers
C) linear polymers
D) all the above



5. Fibre as soft as wool is:
A) Nylon
B) Rayon
C) Decron
D) Acrylic

SUBJECT: BIOLOGY
Multiple choice questions:

1. What are the factors that affect the irrigation requirement of crops?
(a) Nature of the crop

(b) Nature of the soil

(c) Season

(d) All of the above

2. Poultry gives us:

(a) Eggs

(b) Meat

(c) Honey

(d) Meat as well as eggs

3. Which is the modern method of irrigation?
(a) Moat

(b) Chain pump

(c) Dhekli

(d) Sprinkler

4. OQil is produced from which of the following crop?
(a) Mustard

(b) Wheat

(c) Maize

(d) Barley

5. Which of the following does not absorb water?
(a) Sandy soil
(b) Clayey soil
(c) Red soll
(d) Loamy soil
SUBJECT- HISTORY
Multiple choice questions:

1. What is Mercantilisms?
A) A trading policy
B) A foreign policy
C) A commercial policy
D) An education policy



2. When was Battle of Buxar fought?
A) 1789
B) 1764
C) 1725
D) 1775

3. When did Aurangzeb died?
A) 1796
B) 1830
C) 1875
D) 1707

4. Tipu Sultan established a close relationship with the in India and
modernized his army with their help.
A) British
B) French
C) Dutch
D) Portuguese

5. First English factory was set up on the banks of river
A) Ganga
B) Yamuna
C) Penna
D) Hugli

SUBJECT: GEOGRAPHY
Multiple choice questions:
1. Common property resources' refers to:

a. Community lands
b. Land use
c. Pattern
d. Land
2. Advantages of the community ownership of land are :-

a. Prevention from land degradation
Property Resources

b.
c. Prevention from encroachments
d. Both (a) and (c).



3. About % of the world area is under forest .
a. 30%
b. 32%
c. 31%
d. 26%

4. The changes in land use pattern are often the major cause of .
Environment

Topography

Care

Land Degradation

o0 o

5. Resources are unevenly distributed on the Earth due to :
a. Relief
b. Climate
c. Vegetation
d. All of These.
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